MAT 011, Exponents & Polynomials (5.1 & 5.2) Name
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1. Evaluate each expression.

d. —32 = _ q
b. (-3)2
9

c. (—4)3

— (Y {

e.—2- 53
—2|29= 250l
f. 70

2. Evaluate given the replacement values for the variables.
a. x%x=-2

(-2)* = 4 203)(H* =
b. —4x?y3,x =2,y =-1 d. 2—;:,2 = =2
-\
-4 (2 = 44 o Z}F:E) s
3. Simplify.
a. x?%.x5 g. (=5)7(~-5)°
X' sy’

b. (a®b)(al?b'?) h. (—=8mn®)(9m?n?)

a6 — F2m3n®
c. (x?)* i. (ab)®
xbb a{kb‘e
d. (=7a?b5c)? . (;:—)9
o 2 A
4ea'p° e Iy
xz\ 2 xy*\3
e (-%) < (25)

¢.2xy%x =3,y =4

g. —2x°

2= -2

h. =30 + 490
~lt\=0

.25 = ISo

2z
Y
m. (5y)(3y)
IS\
n. (12x%)(~x)(x*%)

_\’L*IY




(-—6)13
(*"6)11

(-¢)* 36

4. Simplify each expression.
a. (59%+ ()’
O+ W =
[+ri=2.

(2x5y2)°
-3 2x20y 0

Tx?y

[

" 14x2yd

¥

R

20 |

. A

_32’;1-07“!

= e )( e

c. (ab)s - sp

;R

5. Suppose you borrow money for six months. If the interest ra

6
formulad = P (1 + {E) gives the total amount to be repaid
loan of P = $1000 and interest rate of 9% (r = 0.09), how n

the loan?

A= ]Ooo(‘*,%§b

6. Combine like terms.
a. 14x2? +9x2

WEYts

2,2 1 3 2_1.3
b. 5X X + x 2X +6

(35« G to

2
-5-2 343

- 3 =
T+ T+

(2a5p%)"
[ =16a20h7

e, x3a. y4a

x‘)ﬂ

' yta

= ¥ o%s &S

h

f.Bs — 55 + 45

18

8. X%y + xy +

r 9a*b”
" 27ab?

a>2b”

&z.a b"- ) __bs
bath?

Qa.

is compounded monthly, the

t the end of six months. Fora
ch money is needed to pay off

v+ 10x%y — 2y + xy

IRy 2y =3y




. (=7x+5)+ (-3x%+7x +5) h. (2x? + 5

:
- 3xta 10 2%+
-X¥E 4
d. (2x2+3x—9) ~ (—4x +7) i. (—6y2 +
2r*+3a -9+ 4x -3 ~N* 4
<

e. (3x%y —6xy + x2y2 —5) — (11x2y? — 1 + 5x2y)
3P~ A PAYE-S iRt + | - sy,

W O 20ty - by W

7. For each of the expressions, label them as monomiial, binomi

a. x+2 ¢.a+5a?+3a3 —
b. 7r2s? +2rs — 3rss d. x2y3

8. For each expression, state the degree of the term.

a. x?2 b. y3 c. xy
2L S 2
9. For each expression, state the degree of the polynomial.
a. Im®-5m?+4m—8 c. 12x*y — x
b. 5y+2 d.9y —x? +

l 3

10. Explain why xyz is a monomial, but x + Y+ z is a trinomial.
Xtyt2 Lo nuuﬁau,o% 3 Jerns
M N W eV

-~ (3x2-9)
-3 +q
Ll
—4) — (9y* - 3y)
YU Ayt 4 By

l*e\l_l.‘

, trinomial or none of these.
4

d. x3y7 26

I
2 —12x2y*

XYZ




